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1 55 of an amount of money is $519. Find:

a 15 of the money b the whole amount.

%] Back to main page
E Hee 2 % of a soy bean crop is 2104 tonnes. Find the weight of:
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international student 7 3 & of Jo’s weekly earnings are paid as income tax. She has $666 remaining after tax.

(Mvp2) £
£ Foreword 1 What is her total weekly pay?

[¥] using the interactive
=)

a % of the crop b the whole crop.

of a field was searched for truffles and 39 were found. How many truffles would we

[£] Areas of interaction expect to find in the remainder of the field?
[E] Table of contents
] 1. Whole numbers

] 2. Angles, lines and
paralielism
] 3. Properties of
numbers

8 4. Fractons FRACTIONS (Chapter4) 91
%] opening problem
[] A- Manipulating
[flouine 5 Last week we picked 15 of our grapes and this

8 - Operations with §
factons week we picked L of them. So far we have
ST picked 3682 kg of grapes. What is the total

- The unia . X
U method ity weight of grapes we expect to pick?

fractions
& E - Square roots of _ 6 Alfredo sent é of his potato crop to market last

o1apM ||

s




image2.png
File Edit View Document Tools Window Help

@@ @G 0 /% O® 136% -

=V L

[E] Mathematics for the
international student 7
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[E] Areas of interaction

] 2. Angles, lines and

] A- Manipulating

1 E- square roots of

Last week we picked 15 of our grapes and this
week we picked 41 of them. So far we have
picked 3682 kg of grapes. What is the total

weight of grapes we expect to pick?

Alfredo sent é of his potato crop to market last
week. This week he sent 55 of the remainder.
a What fraction of his crop has now gone to
market?

b If he has 860 kg remaining, what was the
original weight of the crop?

Annika pays ;—5 of her weekly income into

a retirement fund. If she pays £42 into the

retirement fund, what is her:
a weekly income b annual income?

Jamil spent % of his weekly salary on rent, $ on food, and % clothing and
entertainment. The remaining money was banked.

a What fraction of Jamil’s money was banked?

b If he banked $138.00, what is his weekly salary?

< How much did Jamil spend on food?
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7 Annika pays 3= of her weekly income into

25
a retirement fund. If she pays £42 into the
retirement fund, what is her:

a weekly income b annual income?

Jamil spent % of his weekly salary on rent, $ on food, and % on clothing and
entertainment. The remaining money was banked.

a What fraction of Jamil’s money was banked?

b If he banked $138.00, what is his weekly salary?

< How much did Jamil spend on food?

In autumn a tree starts to shed its leaves. é of the leaves fall off in the first week, %
of those remaining fall off in the second week, and 55 of those remaining fall off in the
third week. 85 leaves now remain.

a What fraction of leaves have fallen off at the end of:

i the second week i the third week?
b How many leaves did the tree have to start with?
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